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5-2-10

_________________________

________________________

5-2-10
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12

21 32
5-2-12 12
5-2-13
5-2-12
1 2 3 4 5 6 7 8 9 10 11 12
NOX [m3/ 194 329 797 797 683 867 867 867 (1,197 1,197 |1,410 (1,327
SPM | kg/ 14 25 55 55 46 54 54 54 76 76 90 84
13 14 15 16 17 18 19 20 21 22 23 24
NOx [m%/ |1,440 |1,110 (1,110 649 660 158 212 277 841 11,206 |1,247 |1,215
SPM | kg/ 92 69 69 41 51 10 13 18 59 78 80 78
25 26 27 28 29 30 31 32 33 34 35 36
NOx [m%/ |1,269 |1,222 (1,169 (1,090 1,090 [1,142 |1,133|1,088 618 618 212 431
SPM | kg/ 83 79 76 70 70 73 73 68 38 38 14 27
37 38 39 40 41 42 43
NOX [m3/ 349 118 118 118 118 118 65
SPM | kg/ 22 8 8 8 8 8 5
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5-2-13 12
1 2 3 4 5 6 7 8 9 10
12 13 14 15 16 17 18 19 20 21
NOx | m*/ |10,532|11,778 | 12,559 | 12,871 | 12,723 | 12,699 | 11,991 | 11,336 | 10,746 | 10,390
SPM | kg/ 681 759 803 818 804 809 766 725 689 672
11 12 13 14 15 16 17 18 19 20
22 23 24 25 26 27 28 29 30 31
NOx | m®/ |10,399 | 10,236 | 10,124 | 9,953 | 10,065 | 10,124 | 10,564 | 10,994 | 11,978 | 12,899
SPM | kg/ 674 664 658 649 659 665 695 714 778 838
21 22 23 24 25 26 27 28 29 30
32 33 34 35 36 37 38 39 40 41
NOx | m%/ | 13,710]13,487 | 12,899 | 11,864 | 11,080 | 10,161 | 9,057 | 8,006 | 7,034 | 6,062
SPM | kg/ 888 866 826 760 708 648 577 509 447 384
31 32
42 43
NOX | m3/ 5,038 | 3,970
SPM | kg/ 319 251
21 32
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(D)
¢ /7 ka/ )
«c /7 )
(G
. (D)
0.5 0.9 /

Q 1 u(z-H. )| 1 u’(z+H,)
CR, =P | = v e’ . _ e
2 revsy [rf_ exp{ vt | T e

o
=R+ —(z-H,)
t \/( )
o
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5-2-14

5-2-14
0.4 / 0.5 0.9 /
(o \V4 (o \V4
0.948 1.569 0.748 1.569
0.859 0.862 0.659 0.862
0.781 0.474 0.581 0.474
0.702 0.314 0.502 0.314
0.635 0.208 0.435 0.208
0.542 0.153 0.342 0.153
0.470 0.113 0.270 0.113
0.439 0.067 0.239 0.067
0.439 0.048 0.239 0.048
0.439 0.029 0.239 0.029
i 1 1 16
(@ ¢
1 16
u/a 1 f,=—>F,
16 i=
3
1 uwa 1.5 fa=f+2) F +F,, /16
k:2—3
1.5 u/oa 2 foa=|F+2) Fo+F,, /12
k=-2
1
2 u/a 3.3 fa=|f+2) F, +F,, /8
k=-1
3.3 uwo 6 f = (F, +2f, +F,, V4
6 u/a f =f
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u/ox 1.5 R u-He/N2y

fFo=lf LHe—RJ £ plyute
CcCi { a(\/_zy + Cl \/_zy

i
fci fcci

116

fazﬁzfi

i=1

)
1( i J k) i i
1( i i k) i i
2C ) K
2(C ) k

NO, =1.754 NOx ©°-7#

[NO2]
[NOx]
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26

[NO.] =1.4587 [NO:]
[SPM] =1.7705 [SPM]

[NO.]
[NO.]
[SPM]
[SPM]

20

/(
20

10
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24

25
28
100 10 /
5-2-16 5-2-17
5-2-18
10
25
5-2-19

Enox Z(Qixhi)

Qi (Pi><NOx)><Br/b

Espu Z(Qi ><h;)

Qi (Pi><PM)>=<Br/b
Enox g/
Esen g/
Qi i g/h
hi i h/
Pi kW
NOX g/(kW h)

1S0-C1

M g/(kKW )
Br g/(kw h)
b 150-C1 g/(kKW )
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5-2-15(1)

ol NOX g/(kW h)
15 5.3 5.3 6.7
15 30 5.8 6.1 9.0
30 60 6.1 7.8 13.5
60 120 5.4 8.0 13.9
120 5.3 7.8 14.0
24
25
5-2-15(2)
ol PN g/(kW h)
15 0.36 0.53 0.53
15 30 0.42 0.54 0.59
30 60 0.27 0.50 0.63
60 120 0.22 0.34 0.45
120 0.15 0.31 0.41
24
25
5-2-15(3)  1S0-C1
150-C1
b g/(kW h)
KW
15 285 296
15 30 265 279
30 60 238 244
60 120 234 239
120 229 237
24
25
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5-2-16

450kVA 550
25t 1,800
50t 650
0.45m° 3,925
0.8m° 600
1.3m° 1,800
90 110m%/h 296
4.4 8,896
10t 53,500
11t 13,125
2 a4t 6,950
20t 300
5-2-17
kW /(KW h)
450kVA 427 0.145
25t 193 0.088
50t 132 0.076
0.45m° 60 0.153
0.8 104 0.153
1.3m° 173 0.153
90 110m%/h 199 0.078
4.4 213 0.059
5-2-18
/ km
10km/h 10kn/h
10 6.086 0.128
11 6.806 0.128 4038
2.722 0.051 0.076
20 13.611 0.256
28
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5-2-19

13,710  /
888kg/
29 30 31
19 16
5-2-20 5-2-13
5-2-20
/
0.4 | 0.5 0.9 | 1.0 1.9 | 2.0 2.9 | 3.0 3.9 | 4.0 59 | 6.0
0.7 1.5 2.5 3.5 5.0 7.0
5-2-21
/
/
(=19 ) /
5-2-21
0.150 0.225 0.300 0.375 0.375 0.450
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5-2-22
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X 5-2-15
X
5-2-23
X
0.0246ppm
98
0.056ppm
5-2-23
X
(ppm) (ppm) 98
(ppm)
(ppm) (ppm)
= + )
1
0.04 0.06
0.0246 0.021 0.0456 0.0304 0.056  |ppm
1.
2. 30
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5-2-16

0.0016mg/

0.050mg/

5-2-24

5-2-16

(mg/ 2
(mg/ )
(mg/ ) (mg/ )
G +
1
0.0016 0.021 0.0226 0.050 0.10 mg/
1.
2. 30
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5-2-23 24
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5-2-18

5-2-18
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12

21 32
5-2-26 12

5-2-27

5-2-26

1 2 3 4 5 6 7 8 9 10 | 11 12
NOX | m%/ km| 0.7| 1.1| 2.5| 2.5| 2.0| 2.7| 2.7| 2.7| 2.7| 2.7| 5.4| 5.8
SPM | kg/ km | 0.03| 0.04 | 0.1| 0.1| 0.1| 0.1| 0.1 0.1| 0.1 0.1| 0.2| 0.2

13 14 15 16 17 18 19 20 21 22 23 24
NOX | m%/ km| 7.4 | 7.3 7.3 6.0|20.0| 1.7| 1.9| 4.5| 20.2| 9.8| 14.4| 18.7
SPM | kg/ km | 0.3 | 0.3 0.3| 0.2 0.8] 0.1| 0.1| 0.2| 0.8| 0.4| 0.6| 0.8

25 | 26 27 28 29 30 31 32 33 34 35 36
NOXx | m®%/ km | 16.2| 13.7 | 13.6 | 13.1| 14.0| 13.5| 14.0 | 11.5| 6.5| 6.9 | 4.9| 6.4
SPM | kg/ km | 0.7| 0.6| 0.6| 0.5| 0.6 0.6| 0.6| 0.5| 0.3| 0.3| 0.2| 0.3

37 | 38 39 40 41 42 43
NOX | m%/ km| 6.1| 5.9| 2.9| 1.5| 1.2| 1.2| 0.4
SPM | kg/ km | 0.3| 0.2| 0.1| 0.1| 0.1| 0.1/ 0.02
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5-2-27 12
1 2 3 4 5 6 7 8 9 10
12 13 14 15 16 17 18 19 20 21
NOX m3N/ km 34 40 47 51 55 73 72 71 73 90
SPM kg/ km 1.4 1.6 1.9 2.1 2.2 2.9 2.9 2.9 3.0 3.7
11 12 13 14 15 16 17 18 19 20
22 23 24 25 26 27 28 29 30 31
NOX m3N/ km 97 106 119 128 134 141 148 142 154 166
SPM kg/ km 3.9 4.3 4.8 5.2 5.4 5.7 6.0 5.7 6.2 6.7
21 22 23 24 25 26 27 28 29 30
32 33 34 35 36 37 38 39 40 41
NOX msN/ km 173 159 156 147 134 124 116 106 94 81
SPM kg/ km 7.0 6.5 6.4 6.0 5.5 5.1 4.8 4.4 3.9 3.4
31 32
42 43
NOx | m%/  km 69 55
SPM | kg/  km 2.9 2.3
21 32
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5-2-17

5-2-28 5-2-29
295 70
365
5-2-30
5-2-6(1) (2)
5-2-7
5-2-28
/
414 68 74 556
414 68 74 556
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5-2-29

/
2,902 24,836 27,738
1,134 14,731 15,865
5,069 37,773 42,842
2,246 28,258 30,504
5-2-30
45  /h

11

25

10

11

2 4

20
28

30
5-2-31(1) (2)
30km/h
40km/h 50km/h
5-2-32
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5-2-31(1)

/  km
30km/h 30km/h
45 /h 171 -090

11 .910 .084 0_043'903

25 .778 .146

10 .357 .084

11 .357 .084 5 535

2 4 .743 .034 0.050

20 .713 .169

.106 .007
28
5-2-31(2)
/  km
40km/h 50km/h 40km/h 50km/h
2.276 2.044 .047 0.045
2.570 2.314 .060 0.058
1.681 1.513 .039 0.037
0.011 0.011 .000 0.000
0.013 0.013 .020 0.019
0.102 0.103 .006 0.006
0.060 0.062 .000 0.000
0.468 0.428 .016 0.015
28
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5-2-32

0.98 0.98
/ km 3.27 5.14
0.040 0.040
kg/  km 0.461 0.702
30
X 0.021ppm
0.021mg/
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5-2-33

X
0.0018ppm
98 0.039ppm
5-2-33
X
m
(ppm) (ppm)
(ppm) 98
m
(ppm) (ppm) (ppm)
(ppm)
G+ =t
1
0.0018 0.0057 | 0.021 | 0.0267 | 0.0285 | 0.0205 | 0.038
0.04
0.06ppm
0.0014 | 0.0075 | 0.021 | 0.0285 | 0.0299 | 0.0211 | 0.039
30

162




5-2-34

0.00007mg/
0.048mg/
5-2-34
(ng/ ) | (mg/ 2
e/ ) (mg/ ) (mg/ )
(mg/ ) = + )
G + )
1
0.00007 0.00082 0.021 0.02182 0.02189 0.048
0.10
mg/
0.00006 0.00101 0.021 0.02201 0.02207 0.048
30
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5-2-33 34
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